ZEMMEXILHR—IL FLTET7 FAME—ER(TH2961138KRA)

MERERRARER (B4 M. BiiA)

X5 R B |£5EE) HE X5 mE B |£5EE) EE
EA 18 540 ZARYRZ A (IKWHK ) 18 160
Ea 18 160 ZRYRTA R (1KW) 18 210
AREAR 18 320 ZRYZ A+ (1.5KW) 18 210
TEEFES 18 1,620 EYZRYE S/ (1KW) 18 1,080
WPE 1= 1,080 E ZRY Tk (2KW) 18 2,160
SEEAW 1= 1,080 KR—ILIR—F—51+ 151 1,080
TE 18 210 | Kk—)La7—K)J U5/ (LED) 151 1,620
AR 18 50 Eg KE—ILFvN—KY 54/ (LED) 151 1,620
RE R 18 50 % |[hR—ILT5 YRS/ (LED) 18 210|*1 (FEDBHR)
BIEES 18 100 INR—ILET—7RY Y 54 (LED) 15l 860
RiEE AR S 18 100 INR— LT w/8—7K1)V V54 (LED) 15l 860
EEEREES = 50 IJxPhIT = 540
FEEAT 14T 50 B 18 540
aVMSNRARF 1[0 50 S5—R—)L 18 540

= ERERET 1R 50 £k 1= 1,080

o |EER 138 1,080 SHERER 15 100

B =g - 14 160 SHTENLELE ES 1,080| 71 22K ET

& TOYSLREVE 15 100 fE |iR—aJIL<( 15 640[X 1 V2R EL
HEEA 115 210 T 1Y 1K 320
EfHE 13 160 i |EERAIL—V—-La—45—KE 18 540
= FE P EE #n 148 160 MERIL—v—-La—4—&K5 & 18 540
i tupy 118 100 BRE=S— 18 320
Hhig 14 1,080 ooy —A 14 10,800
WE 15k 1,080 7J07z494—B 18 1,080
N 11& 50 Jovzs4—C 15 540
X REFAEIR = 320 A1) —2 (KE) 18 1,080
NLIRY— 148 860 APV =2 (INEY) 18 320
AER—ILBERFHR LES 4,320 L—H—RA 25— 1A 210
INE—ILEEREHR 1= 2,160 JSURET /) (REA71A) 18 11,880 | SR R4 Al
KE—ILBRERY—V 1= 1,620 GSURET/ (h74) 15 3,240 | S4B
RSATARRTIY 15 1,080| K547 AR5 0%) RAVELTBF 150 50[x2( FRBH)
RAE—HIITY 15 1,080 i [EM 150 50|x2(TF i8S HR)
AR—IILEEE 1= 3,240 (<143 B/ SR 115 100
INR— LR & E 17 2,700|= 1 23l v —&iE 15 540
TAYLATAVEE 1= 1,080 A 23 FER R VOB IR 1= 750
JTANYLARIAY 1K 540 NN —ER1E 1= 1,080

= |IVTUHY—%AY iES 860 avteuk Tkw 100|#FRABEDEE

& A7V 1A 320 =kif] 11 320

%2 TAHRAUR 1K 100 YA RAUR 14 160
ZHEBYTAVERE 1= 1,290 RIOAR—F 18 160
it il
BHARE—H— 18 540 1 SELREFIHOSEE &R
SEBRER 1[EB% 100[#FABEDBE *2 JBRE, SEBEROEEELZRL

fii#%

1 ZORITED DHMEEE, FIHEEKIRERE7ZY o&Ee LET,

2 FIHEE, fFﬁﬁggH%ﬁxEEfFifx ER 1D B P4 50 TR OV 6H M SR 108 £ T, TR ENORBIHENIC BT 2 FH X 5y
Tl LET,
3 ZORIFEHLTWARWA T —7 4 LE =DM U —= 0 TREX, TOERBEZBNT-LET,



